EAGRAROBREERT — 2 N— ABISH —F

2020518208 (B) 16mMAFH1H

BN - »s20208 A2 ¥5%—#&

[xwlw | imEmml - |5 5 oo E

[A~E%] 1 7% :5,300,000 @ ~ 23 :2,120,000  ~ 3 #& :1,325,000 F

4 7% :795,000 F 5 3& :530,000

B B BEBR M HE BF (FE) g4 L (&%) | BBIEM | EOF [SIEE | AR | A2 | BEER (FRB) / BE / £ENS
. N t 6 | EEREA 2:09.5 10-10-10-8 [ 39.4 | — 2 510 |{EAEL ()
11814 A b= N— g 57.0 (=) +1) E“l#a
iR TA "X B:bhyTLTF1X8— # BB
o 5o [ippe ] :09. ~4-4- . — HiEEe (K3H)
2 10l E=¥F1 K 4 6 2% 2(30/94)6 4-4-4-3 | 40.3 10 (5_33 iﬂ(;ﬁ_&_
R:TLPFFE2Te BTV T4—F ERT7—L
.ot A : —7-5- - TEE (k)
N AT E LRRE A I e B I Rl =
A:Curlin #:Judith Basin Dixiana Farms LLC
= =P 4 4 | KHEZ 2:10.3 2-2-3-3 |41.0| — 3 499 | BREIE(E (KH)
4171121777 R 5.0 ) o |=HEEBS
L:hY/RI47T B:YV2E4—XV v X pE e ]
N # o5 | AEF 2:10.6 8-9-7-7 |40.8| — 4 477 | BBAFIE (1)
EH 9 f—t>IZ-FI ;5.10 (11/2) 1) é“ll‘éﬁi
Rib=—t>TI74 0 B:IZ2—FNLAX BHRLt# IXF4T77—A5A
S 8, 5 S o = AAES 1. -6-1- . - ERE (K3)
6|1|1|ET7¥=TRTT R A7 I I B e
LNNVTSY BTLY v XIVT LIS
2 = 4 5 | IR 2:11.5 3-2-1-2 | 42.4| — 5 462 | ERER (KH)
717111 2 AZ—F -2 v b 55.0 2 +3) W2
iR N—3I FA—L B:TO-FFaAX HF—L— - TxI8> - 77— LEERE
= = 46 | ATEEM 2:11.6 14-12-9-10 [ 41.5 | — 13 500 | KEFE= (a1E)
N . BEEAYES 57.0 ) Ly |BEREL
R:7v3IT7—L B:UIEVITLT1 BRYS
—: o o HEIRTHEE 1. -11-7- . — BRE (KH)
9 5|74 —7F—1NZ # o7 I 2711t)7 1-11-7-9 | 41.9 12 (5&3) L
AL :Exchange Rate #£F:Lemonlime Richard Shultz
. AHFE 2. ~5-6- . - BEHER (KFH)
1057 Ja—9 4 wHhH—2 47 o 2(122)1 5-5-6-5 | 42.6 9 ig? S
QF25 4 B Yya—ix—TI Ya—7J7—~4L
- PR A : —14-12- - BRA—R (KH)
1lslg|¥7 vHZEY Y b 4 8 e 2.(122>.5 13-14-12-12| 41.0 14 (i??) »?#m*
LNnN=v774 B:%5rH BHHE
N . =4 0 —13-13— = BRA—R (KH)
12 3 IS5 LH— bk 4 6 o (27.}5.;)) 12-13-13-13| 43.5 11 ;1:334) o
R:F4—T2AHNA B:Y—ZXHy b1 L BA77—L
> L > S # 8 | BEE 2:15.6 6-8-11-11 | 44.5| — 8 465 | BTN (KFH)
13813 ¥ T #F =~ 5.0 @ (s | HEE—
xR TAANAN B4 ZxL—YI EviLyRT77—L4
o= v o HBXH - -1- - — FEILRETE (/I\HE)
% o| KZd>Hhy 7 "7 57.0 (shik) I 1 (4:353) EEFBER '
L:ZFAT=IK B:oNTr—hoT BT 7 —L4
® 1 —F—@EBIERL
1T=7r= 2,12,11,10,7,13,4,9,1,14,5,3,8,6
20—F— 2,(11,12),10,7,1,4,13,9,14,5,6,3,8
== (1,11),12,10,4,7,(5,9) ,6,14,13,8,3,2
43—+ — 1,11,(10,12),7,4,9,14,5,6,13,8,3
[ /N
B O 14 510 714K 10-14 4,850/ e E 6-8 2,360 JEE 4-10-14 55,720/
B B 14 180H4 4-14 9509 e B 8-6 3,470H 3B 14-10-4 396,710
10 1,030 4-10 7,500/ B & 10-14 21,020M
4 300H B H 14-10 29,220M

ARICOVWTRDTEEERROODE. TR LI,




